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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. Attempt ALL Questions.

3. Simple Calculators are allowed to be used.

4. Working Notes should form part of the answer.

5. Answers to theory questions should be brief and to

the point.

6. Answers may be written either in English or Hindi;

but the same medium should be used throughout the

p ap er.
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z. Es rrv EE nr+ + + qS yril qr vat €frs r

3. rtFrer +o-Etc< qT ERqm fr'q qr t.q-ar * r

n. qHrr +< d :rm ql Ewr ffi{r qtBq I

s. ffi& + ffid csa) * B-ir{ ttsq ft frg-sR A+
qtBs r

q( y:Fr-q?r x6r fiR ot}S qr Gff Et vc,, rrlsT + Afrq, Afr-{
qrft vflt 6,r crrrc go fr *cr qrftls r

NEEM & TULSI Ltd. provides you the following
information:

(i) Material and Labour requirements

Direct Material @ (20 per unit L9 Units

DLed Labour (, 120 per hour 2.4 Hours

Material Wastage Rate

Expecled increase in labour Foductivity 25%

69A

(ii) r u2 rR 1E-e cr an sftk ct+ + frs tff
w+ cre E6EA 6 {qr d zrur;n dfrqr

(iii) so% rrRR& Kr yr frAfud ifr w zsx w
flrrr qfiF( 6'.A + fts ffi tRc fi-fi Tg d
qurqr dRqr frAfd Efr sr frkd irFr

21o42Aoo t ft 6r{n-d ifi wrr ffi w
20% tr

qr ffia qra

(o) ft<Rtur { t edc, * Aq +q-d v* gffi 31*

ftRs:

(i) Tc{tE ar{rf, *i ssft am(

(ii) cRa-frflq drrrd *r sn{htur flr.Rrl

(u) #oa v6 qr€ i ffitur rrd a;} qfr{rR-d dfrq:

(i) +{r iq r*+ frrc

6

(ii) Overheads and Sales at SOYo and 600/o Capacity
(ii) 6T€ r-{Fst€ {F.

P.T.O
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(iii) 3ltRR AFFI

(iv) R+q6, dFrd

(v) Rt+ri-< arm

(€) nrffiia, dr.r*'6 a gffi friqiltl 6 (S r+s

(u) trwt G Et ftlfr2s !6'sflr€ s-{rfr t, u} qfuT q

so% cFrdl qtl 3q+rt m ta l, t{F6r r{s]q(

loo,ooo wi cfr {ftc ftff irEcrd 40%

ir arrm ?a qt ron *,

inq-+1 orqr l:

(i) so% fr.t- K( c( E-d ffFd aFre d runr

dfrsr

Required: Prepare Flexible Budget at 50% and

90% capacity. ( 15)

OR ALTERNATIVE QUESTION

Calculate all the labour cost variances from the

following information provided by ALOE VERA Ltd'

In a normal working week of 40 hours, the lang is

expected to produce 108 kg of output:

t') tt772r) 1396Pmduciion Overheads (inoludins depreciadon) ({)

161.6Depreciation on Produchon Machinery (?)

l17Zt5 36Adrnidsuati!€ O!erh€lds (a)

14.,115.2Selling & DisEibution Overheads ({)

128
Sales @ ? tt00 per unil

120Yfrmr-fiqflq-d
80

f,qcTxR
qff:<Fffq scfu"T(cR

3,84,000qtr-qH-frq scftq{ 1fr rn-m w va} Grff wm }
s&m' ig% q-r t gr,zoo ft

9,60 000
Rq-" T.rft-q(

E

t t{)0{.1{8072Slillcd

t2066140,18Unskillcd

P.T,O.
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Itourly Wage
Ralt Workcrs
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Actual data relating to finished goods and work_in-
progress:

(15)

ft{ vs Tdft ftfras flqdt EqRfud ur++rt y-qr+ q..rfr

*

(i) trr-fr tfu rrq sraqq-dr(

reqr €rFfr @ ( 20 cft {R-s 1.9 qF;E{I
qq@a20rfizr

z.l rit
srrftqcqce<

50/o
g8Tr+6in qtfud

25'/o

(ii) ilkq{ sk frfr eox qk cox {finr c(

690. 2t

(i) Cash Break Even point

(ii) Cost Indifference point

(iii) Key Factor

(iv) Angle of Incidence

(v) Margin of safety

(vi) Composite break-even point

(vii) Budget Manual

(c) Calculate Break-Even-point for a train journey
between Delhi and Jaipur where cost of an Engine
is ? 3,20,000 and of Bogie is { 64,000. Capacity
of a bogie is 70 passengers and each ticket is

priced at < 2,400. Variable Cost per ticket is
t 400. $)

(t,) ftaRkr {er d +qa v6. lr@ } qRnfti d&s:

(i) E{ dFt-d

5kg

IM.lerials fully
suppliedbut 4Po

l0 k8

[Materials fully
supplicdbut 8ryo

Finished Goods 20 kg l0 [s
Actua.l Sales ofFinished Goods: {47.000 ra) t500 p€r k8

(ii) cR€ drrd

P.T.O.
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Required:

(ii) Calculate the Number of units to be sold

to earn profit of I ll2 per unit.

OR ALTERNATIVE QUESTION

(a) Write only one basic difference between each

of the following : (2x.2=4)

(i) Product Cost and Period Cost

(ii) Variable Costing and Absorption Costing.

(b) Define only in one sentence the following terms :

(t x7=7)

690 5

wrqd so% qh cox errdr rR ilfrdr {trc +qR 6fir
*r

?Ir *16fuq' yr-r

c*+n frfrls E{r rrcrqd rr{ fucfrfud vnortt mft ryq

flrrrf, $tir+ d rrum fr&vr

40 rA + vrn {Frq q'rqq,rff q<r6 t, t{r + log fr-*fic
iIiqrfi 6'{+ d s{-e *:

-ffr€ ++ri<,[ qqw6rc<frrt Gt 20.896 19.072
riqrfi qcfiire c'{ {q6rq G) 16
wnqF-{ @qF (r)

14.72
+n drG"a,rffi{q n)
Efr @ ( 8oo {R tR-d 96

TSr{ 72 r80 44 { 100

srftrcTq 48 r40 66 ?20

P.T.O.

(i) Calculate the Total Fixed Cost at 50%

capacity level.

(iii) Calculate the Selling Price per unit to earn '

. a profit of 25%o on capital employed at

807o activity level. The fixed portion of
capital employed is ( 215,42,400 and,

the Working Capital portion is 20yo of
Sales. (2+2+4:8)

1.61

ts.aol

',rzl
,zel



690 6

*qn qro ft: +qR * t? qm t riffio qnafro'to:

GILOY Ltd. can produce three different products from

the same raw material using the same production

facilities. The relevant details are as follows:

Overhead Rate is { 20 per hour of which 60% is

fixed. Maximum Raw Material available 1,00,000 kg

690'

(i) Sunk Cost

(iii) Opportunity Cost

(iv) Differential Cost

(v). Discretionary Costs

(b) List the two basic characteristics of Relevant

Costs. Q)

(c) GINGER & HONEY Ltd manufactures a product,

currently utilising 50%o ctpacity with a turnover of

t 72,00,000 at t 400 per unit and its P/V Ratio is

40Vo. The cost data is as under:

2

1oGifr

fmrtrifftr<t+
3iqffifttrq
tfuso"z"
qFsfttrt

sQd
tqmftfrtr-s+
qrffiftqt
tftr aov"
qffifirt

i-qrdr.-6rqr<

roffit20 ft+frqr< qrq

iqrq qrq ff qrwG-fi R#: 47,ooo rr{} @ 1 566 5q{ffi ffrfr

Particulars
z

Maximum Market Demand (units) 6000 4000 3000

Selling Pdce per unit ({) ft00

Rarv-Material as % of Sales Value 80% 60% 75yo

Labour Cost per unit (t) 64

120Dtect Material per unit

80Direct Wages per unit

32Variable Overheads per unil

3,84,000Semi-Variable Overheads (which \1 ill iflcrease by { 91,200
l8Y. increase in or there

9,60,000Fixed Overhcads

P.T.O.

19

(ii) Committed Cost

iffirrF"l"r
l-^.I mrrrrer+

xl Yl

soo 
I

4oo 
I

orl 80|
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sflrf;r ift{ srRG-{- q? a Rq srq{{6 qr{.6, q? 6I

efrm sz * l, *fi flrrrd ft-qdl ? 4oo eqlql;E

*r "m 
q-u1fr qr frqdl sk 'm Ea-dI fi-qot fr wral

dfrsr

rn ffio' c[<

(o') v-<ut Aiela-{ + ir{,3M, ,-rfr *t 6r4*d fr
t&q { qrqr dftsr

(e) ffiRa t t r+*' 6 6q *'w qa, gffi dtt

frtuq

(i) qq-t' arrrc *t qqdtq ffidur

(ii) {q iluR{ <-oe'tr *r qriqffi E-sEtr

(iii) fur c$d *{ r$-et qwe

(iv) 6l&fiq coE{r d{ l-<rf{ EdPrr

(a) Define only in one sentence the following

@ ? 40 per kg. Maximum Production Labour hours

available 18,400 @ { 32 Per hour'

Required: Find out the Product Mix to yield maximum

profit and determine the Profit at the selected product

Mix. ( 1 s)

OR ALTERNATIVE QUESTION

HALDI Ltd at present manufactures component 'X'
one unit of which is required for each unit of Ptoduct

'A'. The budgeted output of Product.'A' are 1'20'000

units. Tho cost details for 10,000 units of component

'X' are as under :

Direct materials ?96.000

Direct labow @ t20 Per hour t 1,20,000

Variable overheads T72.000

Fixed overheads < 72.000

Total t3,60.000

The component 'X' however is available fbr purchase

at the market at { 32.00 each ln the event of the

Company deciding to purchase the component 'X' from
5

terms: (1x5:5)

P.T.O
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(ii) Zero based Budgeting and Traditional
Budgeting

(iii) Fixed Budget and Flexible Budget

(iv) Programme Budgeting and performance

Budgeting

(o.) frqRtud + t c-46 + +q +c-d qc, gffi ird{

(i) EFrd fu6-{ str l-<rr eer?n

(ii ) kiq ffi{ qlr equ-{ tqi6r

(iii) mrrd fudu ${ ilrrt + 6,ft

(iv) rea f,Frf, iltr cfrd+q dFrc

(v) rrro dnril *r a-gnR-c nrrrr

(q) yR d cFnR$ Ts{il 
"{ 

or qtffi ilk crffi ffidt
c{ rR qcr eo *, srRR6.rw{il sr cR + qk

wro rq-<t Er yfr * + ft ffir 20 l, crKB{.

market, the Company has two alternatives for the use
of the capacity so released as under.

(a) Rent out the released capacity at ? 4 per hour.

(b) Manufacture component .y, which can be sold at
t 32.00 per unit. The cost data of this component
for 10,000 units are :

Direct materials I1,20,000

Direot labour @ (20 per hour 160,000

Factory variable overheads f 36,000

Other variable overheads ( 84,000

Total ?3.00,000

Required:

(i) Make an appraisal of proposal to
manufacture component .X, and state
whether the component.X'should be
manufactured in the factory or purchased

from the market. Assume that no
alternati've use of spare capacity is
available.

P,T.O.

690
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(iii) Cost Control and Cost Reduction

(iv) Direct Cost and Variable Cost

(v) Standard Cost and Estimated Cost

(b) Average of Actual Wage Rate per hour and

Standard Wage Rate per hour is { 90, Difference

between the Actual Wage Rate per hour and

Standard Wage Rate per hour is ( 20, Average of

Standard Hours required for actual output and

Actual Hours is 52 hour, Labour Cost Variance is

t 400 (Favourible). Calculate the Labour Wage

Rrte Variance end Labour Efficiency Variance'

(s)

OR ALTERNATIVE QUESTION

(a) Briefly explain meaning, objectives, nature and

scope of management accounting' (7)

(b) Write only one basic tlifference between each

of the following Qx4=8)

(ii) Evaluate the alternative use of the spare

capacity and state whether to manufacture

or buy the component 'X' and if Your

decision is to buy the component'X', which

of the two alternatives for the use of spare

capacity will you Prefer?
(7+8= 1s)

ffi ftfrls s6 ffsflrs{gtur* 61 3cfr{ o-d qo, rt

q=* qre t ft $o{-ir6{r serd qr s<req qt t-6"ft lr
{tr( fu{ur Eqt ntrn S:

z

qrqr( q'iT (E6rESt) 6000 4000 3000

Etrtftn{{q (scltt 500 400 800

qw*"zo *w *mi*rrq 75lo

qfrE6r€Tcff.rc tsqt*r 64

fl\c{istc 20 \qi cR qcT i frrsi t oox fu( tl qD6.d{

$@r qrfl l,oo,oo0 ft-&{FI @ lo qq} vfr ffiurc qt

gqder tr @ sz wt ffi qcl d o 1 ,6,ase sEs-flq

seflFr $I.r Q sc{q tr

slcs] flfuff'{c q ![kl 6ri st( qqfi-c vere frnq {{

fli{ Fulfr q'ri + fts sflrq frqq qt qtr iltrcl *t
(i) Standard Costing and Budgetary Control

P.T.O

A {{rr xl

Bo%l 60%l

481 sol
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ssfiwcrft ? 96,000

TeTST Trr @ r 20 rft t-Er t 1 ,20,000

cR:qrt$q ofdQs-{ ? 72,000

furWs-s < 72,OO0

s-q { 3,60,000

<qR, qeo sI{ n+s' sz.oo \q+ } qrqR { €A-q + frq
scder il offi a<r crsR * qe6 ,x, €H cr ffotq t*
fr m +, ot* * crt qr<r * sc+q + fts a R6-m
i, il Er ron vrt sff rr{ *-

(q) wt fr r{ erwr q1 I ws yR Ecr d vt + frnq
cr +qrr

(€) Rfrftr ECn y ftrt szoo Ecs yR die fr rt + Aqr

Er qr6- ir to,ooo Esr$it- + frc w q(fi-inr arqiT

ta Er ror< *:
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fi qart i x * rz,ooo rori sk y 6 oo,ooo

mrgi or liq6 ftq1 qqrr qRm qlcm *rnrT

t.tqrd fi 93.75% I gtt wrm qJcrfr 
"Fdr

iqqre sr $z.4yo tt frfuq qr<r rgrm * zror<r

dfrqt

(R) eqrftq ffqr<< d qn frDrq) d {fr T{rrv *r
B-{d t Grfr s6 d v6. velr{q d mrmr t
Ilffir{gl

(tt) Fk< a-<rafts *'* fr (S cils *r B-{t- + Aiff
gq'fr qrcqr fr&ql

(a) Write.only one basic difference between each

of the following : (2x5=10)

(i) Cost Accounting and Management

Accounting

(ii) Financial Accounting and Management

Accounting

4

P.T.O

stff RRls {ttc'{ + q..r'Enr qr frftqlur s,-ffi t, ffi
vo' ror$ vere 'x' d r-d6 E6r{ * frc srqsm.*t Eflr€
'x' ql q-s&q g-flr+r l,2o,oo0 Eorgq) w *r qco ,x, tft
lo,ooo F6r{+ * ftS aFrd eq(Ur frqEfl{ * -
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glqd q,"(ql *:

(i) q.t, 'x' * frffir d rcn ar luta-<

{Rs *(TdEs ft'er qEt 'x' rn Ffrqlur

ERrqr+ { ft'q vrqr qrBs cr clGR i qt(I

qr+ qfigr cr< drfuq f6 qRfrR crrdT +i

+€ ffi gq*rr itrdq cfi lr

(ii) uRRm qr<r + A6Rr, sc+'r sr {sror
dRs str q<es ft'wr qr6 'x' qr Effir
q-ccT * cI ctfir *( qR qFrffI ff'otq E'6

'x' d rcAE+ qr l, n] arc qRRK ffcir *
sc+.r t 6u 6 qo,-f,] O 145-qT tu-dc

cds {ti}?

690 t4

(ii) flq +{

(iii) ffi{r +c

(iv) runraivr Tq ffuksr

(v) vr{rfrq Y-d{

(vi) eqrfic l-<fi + ffiq 3qra

(vii) vqrftc a-{qftr + +{-Gffiq sclc

(e) ffio drrrdl iltt qffid aF+ * &q *w qt,

gffi rfl Rfrst

(T) ffi{ur r{qrfr vt v6 qRq tqtt ftfuqt

(u) rr<or1 * frTcm 6 fi-{ frEr& d {ft q-drEqt

qr ffio cra

(n) ww-ue ftfik A YflrE x tk v q<rft *r vfllr x

c] seren * frs s tt dt flqsoil *ft t qsh

sf,rq Yd s mrEqrc6,€iTflIFdfrm{6ft

{ 1,20,000c-(qerqr{,ft
{ 60,000Terqr$rc@{20 cR'idr
? 36,000ffis-{rqi€fth qRa-eftq

t 84,000q-qcfi:{d-+c re.q
{ 3,00,0005q

P.T.O.
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(a) Define only in one senlence the following terms :

(l x7=7\
(i) Responsibility Accounting

(ii) Profit Centre

(iii) Investment Centre

(iv) Transfer Pricing

(v) Divisional Performance

(vi) Financial measures of Divisional
Performance

(vii) Non-Financial measures of Divisional
Performance

(b) Write only one basic diflerence between
Controllable Costs and Uncontrollable Costs.

(l)
(c) Write a short note on Control Ratios. (4)

(d) List three merhods of Disposition of Variances.

( I x3=3)

690' 13

OR ALTERNATIVE QUESTION

(a) AMLA Ltd. manufactures two products X and y.
Product X requires 5 hours to produce while 5

units of product y can be produced in one
hour. In July 12,000 unirs of X and 60,000 units
of Y were produced. Activity Ratio is 93.75%
of Capacity Ratio and Capacity Ratio is 102.4%

of Efficiency Ratio. Calculate Idle Capacity
Ratio. (7)

(b) List the four methods of divisional performance

and explain any one of them with the help of an

example. (l+l+l+l+2:6)

(c) List the Different Responsibility Centres and

explain any one of them. 0+l=2)

(q) *w vfi itr.Fr { furRfrn lrd } qh{rfrd

6frs:

3

(i) s-f,{qrE-€ ffil

P.T.O.
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